DR6EF T ESI=

ERAEE
PG LS
BREE 102 SHeEERLT— L EEFTE (E58)
(ERFH &Y HEE) (BT - T-F)
=% 15 R&E g 5 #HEEwE H 1 HEBURTHEE
R E 76 Ty (SRR FE (—HR)
\ \ L[l TEARD MR ER
WER | AETE
EEZH4 | FxHse i 7 18 Z ot — R
176,720 594 594
THIE PR - S A [ TEARD B IR
EREEREEISHEHES AEEBSH) BHS
MR ESICHSEBREECLYBETSL0, @S 504F M




DR6EF T ESI=

ERAEE
IR RS
BREE 102 SH6EERLU— L BETE (FE5E)
(ERFH &Y HEE) (BT - T-F)
=% 15 R&E g 5 #HEEwE E| 3  EAEUE
EEEE 759 Ty |RUEREEERSRE
\ \ L [ TE RO R PR
WIERT | AETEA
EEXHA | BxHse Hi1 71 Z0f — AR
329,238 1,718 1,718
TIEE - 2 [ E A OB AR
BYSHEERENISHEHS (EHENLES) BHe
HTEHENLE EHE 1,718FH




SR6EF TEIEHI=

BRIUAER
PG  REHEER
GoESRE 102 SH6EEXILET— iR SEHHEIE FHE (B55)
(FEEHE L ERE) (BAAT - 1)
=% 20 #HHEE g 5 REHLEE E| 2  FhE
TR 155 L |BEOKYHESE
L ‘ A [EAH EFEO RN R
FHIE AL A I IEAE
FEREXH4 | B4 5 1E Z Dt — AR
39,952 100 100
FHIEEE R - A [EIAH EFEORRE NFR
fintA . KRiBEH A, BAAZZENRIZER ERE
SEEMNSHIBL-ERNEE#EICEELTER RIS K& 100FH

LTWSHARE D, BHDS50ADFEE LR/
1= 100 A DZZRZEMENRT 5,
FHAAZEZE @29,000 x 1.1=31,900M

- KENAZEE @19,600 x 1.1=21,560M
-BHMA XER) ZFZE @19,600 % 1.1=21,560M
A RSZZE 24980M

=51 100,000

EX%E 439,000M
XHRAE BRTPHEE
@439,000F9 339,000 = 100,000




DR6EF T ESI=

ERAEE
PG LS
BREE 102 SHeEERLT— L EEFTE (E58)
(T%%E%EH &U %‘i‘%*ﬁ%g) (ﬁﬁ?lﬂ)
=% 20 BEE g 5 REGEE E| 4 ZEME
R E 164 Fky  |(DEME(—R)
\ \ L[l TEARD MR ER
WER | AETE
EEZH4 | FxHse i 7 18 Z ot — R
62,703 1,280 1,280
THIE PR - S A [ TEARD B IR
ERRERERSERSISHEES BHEHES) BHe
L ZEAEES 50,000 EHE 1,280F M

RO ZERATTRARIEE
RILEZRATZESFR R EH TEHRET R 334,000
SEEREFUHTEEART
RIWEZEARILE—ILER

220,000

499,000

&%t 1,280,000M

177,000




